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function mean(a,b: integer): real; :5pvs
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read (a,b); scanf("%d%d",&a,&b);
if (a<b) or (a < 100) if ((a<b) || (a<100))
then write('nnN Va0 Ty printf ("nnX w0 TIy);
else write('pw a0 T, else
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m = 0: m=0;
for i := 1to3do for (i=0; 1<3; i++)
if game [i,i] = 'X' if (game [i] [i] == 'X")
then m := m+1; m = m+l;
writeln (m); printf ("%d", m);
:game TIvnn
04
O
O X

QMN game  TIWNN MNIY MIDOND YOP INN IPYN D220 Nya py (i) N
0290 N N DM

JPDNN YOP ¥8IN N TNX VaVNIa 120N (i)

“TIIY INMNA NATMN NN MIINN YOPI MNIND INNA .2

PIPAS) C
if game [2,i] ='X' if (game [1][i] =="X")
then m := m+1; m = m+l;
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